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5025 | O | 8.15 | 50 ST | OHX 4840M SHEIT B3 23 5
5024 | O 815 | 30 ox7 oISIEA B 23l 5
5023 | O | 8.15 | 40 =7 [4E 4917w T B 23 5
5022 Ol 8.15 30 M= [H&X 4926 =XIT} 2+ Al 3
5021 OlxHEH 8. 15 40 ISP SSIXAL S Adl =
5020 | O | 8.15 | 20 £3 ISIEA B 23l &
5019 Ol xHEH 8. 15 50 e [H& 5012H SHXIX}; 243 Al =
5018 01 xHH 8.15 20 M3 [H& 5007H SHXIX}; 24 Hdl =
5017 Ol xHEH 8. 15 30 (SPS [H& 4983H SHXIT}; 2t& Adl =
5016 | O | 8.15 | 50 z3 ST Z %3 5
5015 Ol xHEH 8. 15 40 B SSIXAL S Al =
5014 | O 8.15 | 20 43 ST Z %3 5
5013 ikl 8. 15 30 (SF - St XA B Al =
5012 | O | 8.15 | 40 M7 L4 49808 ST Ha 23 5
5011 O] fHe 8.15 40 7 SR B Al =
5010 | O | 8.15 | 30 =3 ST E %3 5
5009 O] fHe 8.15 20 7 St XA B Al 3
5008 | O | 8.15 | 50 z3 ST E 23 5
5007 Ol 8.15 20 7 St XA B Al 3
5006 | Ol | 8.15 | 50 VEE IS E 23 5
5005 | O | 815 | 30 me oISHEA B 23l &
5004 | O | 815 | 30 oM7 | [HE 4960M HTIT} 23 5
5003 | O | 8.15 | 50 me oISHEA B 23l &
5002 Ol xHEH 8. 15 20 M3 [H& 5001H SHXIX}; 24 RIS
5001 | O | 815 | 30 mHe ST Z %3 5
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